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yyyy/MM/dd - XX:XE
XXXXE
XXXXE

X
XXXXXXXXE
XXXXXXXXE
XXXXXXXXXE
XXXE

XXXXE
XXXXXXXXXT XXXXXXXXX2XXXXXXXXX3XXXXE

XXXXE = XXXXXXXXXTXXXXXXXXX2XXXXXXXXX3XXXXE

= XXXXXXXXXTXXXXXXXXXZ2XXXXXXXXX3XXXXE

XXXXXXXXXTXXXXXE

XXXXXXXXXTXE =27 FHE 12 345~ XXE

XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE
XE =T TFTHAT XE

12, 345,678 — XXE T 1,234,567, 890 — XXE &FH 1,234,567, 890 — XXE

XXXXXXXXX1XE =7 FHE 12, 345 XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXXTXXXXE

XE I TFTHAT XE
12, 345,678 — XXE & 1,234,567, 890 — XXE &Fd 1,234,567, 890 — XXE

XXXXXXXXX1XE = > 7 FHE 12 345 XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FEAT XE
12, 345,678 — XXE EEH 1,234,567, 890 — XXE AFd 1,234,567, 890 — XXE

XXXXXXXXXIXE =7 FHE 12,345 XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXXTXXXXE
XXXXXXXXXTXXXXE S XXXXXXXXXTXXXXE 6 XXXXXXXXXTXXXXE

XE AT FHAT XE
12,345, 678 — XXE HfE 1, 234,567,890 - XXE & 1,234,567, 890 — XXE

XXXXXXXXXTXE =27 FHE 12 345~ XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXXTXXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T THAT XE
12,345, 678 — XXE HLf 1,234,567,890 - XXE & FH 1,234,567, 890 — XXE

XXXXXXXXX1XE =7 FHE 12, 345 XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6  XXXXXXXXXTXXXXE

XE I TTFTHAT XE
12,345,678 — XXE & 1,234,567, 890 — XXE &Fd 1,234,567, 890 — XXE
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XXXXXXXXX1XE =7 HE 12,345 - XXE

XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXX1XXXXE 6 XXXXXXXXX1XXXXE
XE =T FEAT XE

2/ 2

12,345, 678 — XXE EfE 1, 234,567,890 — XXE &fi 1,234,567, 890 — XXE

XXXXXXXXX1XE =7 HE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T TFTHAT XE

12, 345,678 — XXE EE* 1,234,567, 890 - XXE AFH 1,234, 567, 890 — XXE

XXXXXXXXXTXE =7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXXTXXXXE

XE a7 E AT XE

12, 345,678 — XXE EE® 1,234,567, 890 — XXE AFH 1,234,567, 890 — XXE

XXXXXXXXX1XE =7 HE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FEAT XE

12,345, 678 — XXE EfE 1, 234,567,890 — XXE &% 1,234,567, 890 — XXE

XXXXXXXXXTXE =7 FHE 12, 345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXXTXXXXE

XE =T THAT XE

12, 345,678 — XXE HEE* 1,234,567, 890 - XXE AFH 1,234,567, 890 — XXE

XXXXXXXXXTXE =7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FEAT XE

12,345, 678 — XXE EfE 1,234,567,890 — XXE &4 1,234,567, 890 — XXE

XXXXXXXXXTXE = > 7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FEAT XE

12,345, 678 — XXE EfE 1,234,567,890 — XXE &4 1,234, 567, 890 — XXE

XXXXXXXXXIXE =7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXXTXXXXE

XE =T FZAT XE

12,345, 678 — XXE EEfE 1, 234,567,890 — XXE AFH 1,234,567, 890 — XXE

XXXXXXXXXTXE = > 7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXX1XXXXE
XXXXXXXXXTXXXXE 5 XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FEAT XE

12,345, 678 — XXE EfE 1, 234,567,890 - XXE &4 1,234,567, 890 — XXE

XXXXXXXXXTXE =7 FHE 12,345 - XXE
XXXXXXXXXTXXXXE 2 XXXXXXXXXTXXXXE 3 XXXXXXXXXTXXXXE
XXXXXXXXXTXXXXE D XXXXXXXXXTXXXXE 6 XXXXXXXXX1XXXXE

XE =T FZAT XE

12,345, 678 — XXE H & 1,234,567,890 — XXE Z&fH 1,234, 567, 890 — XXE
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